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ENTITY myand IS
PORT (a, b: IN EIT;
y : QUT BIT);
END myand;
ARCHITECTURE behave OF myand IS
BEGIN

Yy <= a AND b;

END behave;

ENTITY myor IS
PORT (a, b: IN BIT;
¥ : OUT BIT):
END myor;
ARCHITECTURE behave OF myor IS
BEGIN
¥ <= a OR b;

END behave;
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BEGIN

PORT (x:

ENTITY mynot IS

IN BIT;

Yy @ Our BLY);

END mynot;

Yy <= NOT x;

END behave;

ARCHITECTURE behave OF mynot IS
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. myand , myor , mynot

entity TarF is

I YD MY (Signals) MMND IR PEY R0 ,5 NONWD NN IR ThDann? pivn a0 (e 10)

port (

end;

S, Y, X:
f:

U

L
in bit;
out bit );

TarF

myaotiLl]

myand:1F myorili4

architecture reg of TarF is

component myand
port(a,b:in bit;

component myor
port(a,b:in bit;

component mnot
port( x:in bit;

:out bit);
end component;

:out bit);
end component;

:out bit);
end component;
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signal sigl,sig2,sig3:bit;
begin
Ul: mynot port map (x=>s, y=>sigl);
U2: myand port map (a=>sigl, b=>x,y=>sig2);
U3: myand port map (a=>s , b=>y,y=>sig3);
U4: myor port map (a=>sig2, b=>sig3,y=>f);
end;
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Entity TarB is
Port ( E, Rst, T : In Bit;

q 1 Gut Bit )
End;
Architecture Behave of TarB is
Begin

Procesz [E; Rsat)

Variable tmp : Bit := 0;
Begin
If Rat = '"1' then

tmp = '0';

Elzsif E'event and E='1" then
If T = "0' then

tmp = tmp;

Else
tmp := not tmp;
End Tf;
End If;
g <= tmp;

End Process;

End Behave;
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entity Counter 0 to 9 is
port(clk ,X: in bit;
g: buffer integer range to 9);
end;

architecture arc count of Counter 0 to 9 is
begin

process (clk)

begin
if clk'event and clk='1l' then
if X ='1"' then
if g < 9 then g <= g+t+1;
else g <= 0; end if;
else
if g > then g <= g-1;
else g <= 9; end if;
end if;
end if;
end process;

end;
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Library ieee;

Use ieee.std logic 1164.all;

Entity Tark is

Port {( D = In Bit;
S : In Integer Range 0 to 3;
¥ @ Qut Bit Vector (3 DawnTo Q) };

End;

Architecture Behave of TarA is

Begin

Y(3) <= D When S=3 Else '0';

Y{(2) «= D When S=2 Else '0'"';:

Y(l) <= D When S=1 Else '0';

Y(0) <= D When 3=0 Else '0';

End Behawve;
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Library deee;

Use ieee.std logic 1ll6d.all;

Entity Tarhk is

Bort: (D o ITn Bats

A
S Y(3) Y(2) Y1) YD)
|n| |u| Iﬂl D
1 o L1y D i}
z |u| D .u_| |u|
3 D |u| 1u| Iﬂ'
T

5 : In Integer Bange 0 to 3;

¥ :0Out Bit Vecter (3 DownTo 0) ):

End;

Architecture Behawve of TarA is

Begin

End Behave;
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